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4(5]|5|5(4]|7 10| 20
1] 3392 [ 8] 8| 9| 6] 8] 9| 9|admis 8,3| 60| - 8,47 0 0 0
2| 3393 | 9| 9] 8| 6] 9] 9| 10|admis 8,75| 60|AREIM-6 8,35 0 0 0
3| 3394 |10| 8| 9| 6| 8[ 10| 10|admis | 8,925| 60] - 8,51 9,75]iunie 0
4| 3409 | O] O Of O] Ol O] Oladmis 20|PDE, EAPT, TALPS, Practical, MP, EAPGA 0 0 0 0
5| 3395 [10| 7| 7| 8| 8]10| 10|admis 8,8| 60| - 8,74 10]iunie 0
6| 3190 [10| 8] 7| 5| 8]10| 10|admis 8,55| 60(MTAAPA-8 8,51 9,75]iunie 0
7| 3396 | 8| 6| 7| 5| 6| 8| 10]|admis 7,55| 60{mP-5 7,88 0 0 0
8| 3397 | 9[{10| 7| 6[10]10| 10|admis | 9,025 60| - 9,08 10]iunie 0
9 3398 [10[{10]|10| 9[10] 10| 10|admis | 9,875 60| - 9,75 10]iunie 0
10| 3192 (10| 7| 6| 6] 7|10| 10|admis | 8,325 60|MTAAPA-8, PDE-5, AREIM-7 8,01 9,25]iunie 0
11| 3400 | 9] 9| 9| 6] 9] 9| 10|admis | 8,875| 60| - 8,87 9,75]iunie 0
12| 3402 | 8] 7| 9| 6] 7| 9| 9ladmis | 8,075 60|MTAAPA-6 8,42 0 0 0
13| 3404 | 9| 8| 9| 6] 7| 9] 10|admis 8,55| 60| - 8,61 0 0 0
14| 2969 | 9] 9| 7| 5] 8] 0| O 0 23|MTAAPA-7, AREIM 0 0 0 0
15| 3407 | O] O] O] O] O] Of O 0 0|MP, AREIM, PTMS, EAPGA, CT, El, Practica2 0 0 0 0




